ANY1v3Z MaN
40 ALNLILSNI ZU-0o°8)e)sa|eal Wod) paoinos sabeuwl,
31V1S3 Y3y

ploysal4 ON 1472 0 [euspisay 120¢ 1elN 62 000°0LL$  PISWIEQ ‘SaI0y USPPIH
uondss 01G/ pleideq ‘pieieq
ploysai4 ON GG9 0 0 [euapIsay L¢0c 1elN 0€ 000'GELS ‘anuany Auayg L
uoloes plaeq ‘eoeus
ploysal4 ON VL. 0 [ejuapisay L20c JelN 0€ 28.vELS JO0IgMaN €1/G 107
uonoes 01G. pleieq ‘pleieq
ployaal4 ON €08 0 0 [ejuapisay 120C JelN L€ 000'GG1$ ‘ade|d oupa) ¢l
uondss pRiEd
ploysai4 ON Gl8 0 [ejuaplisay L20C JelN L€ 9z8'LyL$ 'S80y USppIH G 107
uoloes pleeq ‘eoeus]
ploysal4 ON YAZA 0 [euspisay 120z 4dv L0 000°GEL$ 300JgMaN G1/9 307
uolnoes plaieq ‘esnusAy
pioysaid ON 0€8 0 [ejuaplisay 120z 14V L0 000°GS1$ AuByd g1L/G 107
uondes pidieqg
ploysal4 ON 018 0 [eusapisay 1202 1dv L0 000°0LL$ '$8I0V USPPIH 9107
uonoes plaeq ‘eoeuis |
ploysaly ON 081 0 [euspisay 120z 1dv 90 000°0¥L$ X00IgMaN £¢/ZL 107
uonodss 01/ pleiHeq ‘pieieq
ploysai4 ON 299 0 |enuapissy 120z 4dv 80 000'v8L$ ‘anueAy Ausyg g
uoioss 01GZ plsweq ‘pleieq
ploysal4 ON G6. 0 0 [ejuspisay l20z 1dy €1 000°GSL$ ‘a0e|d 2upa) 9
uonoss uAmies ‘pleieq
ploysal4 ON (VA% 0 0 [ejuspisay l20z 1dv gz 000°061$ 'S840V USPPIH €1 107
uoloes
ploysal4 ON 161 0 [ejuapisay 120z 1dv 92 000°GZL$ pIdeq 1Q usmo L
uoloes
ploysal4 ON Gz8 0 [ejuspisay 120z ke €0 000°GLL$ pieieq Ig usmo gl
uoldss uAmias ‘pleieq
ploysaid ON 1472 0 0 [ejusplisay 1202 e\ 90 000'0£L$ ‘SeJ0y usppIiH

ainua] Aiobajen

olES Buljjemg meN Zw pue Zw Jool4 SNHE T geq

ajeq 9les 80lid 9|es ssaIppy

‘uonoag [enuapisay selobale) L Zoz aunr 01 910z Alenuep :abuey a1eq ‘pleiueq suoneoso| sy :Alenb Buimojjol 8yl Yyum pajesalo sem a|qel Siy L

slopunes (o113 :Ag payessuss) Juswaalby Jasn pasuoyiny ZN|3y ayi 0} 19algng

O
LH0dX3 ALYIdOYd ZNITY | 7o



wanit| ZN1JY
40 3LNLILSNI cAA-
217153 vy uod'ajelsajeal Woldl padlnos wmmmE_V,

ployaai4 ON 5162 0 [enuspisey 1202 JelN 91 000'GLZ$  ‘Seioy USPPIH 8l 107
uoioes pleeq
ployaa.4 N 0LLL 0 [enuapisay 1202 JeN 91 000'06}$  ‘sa10y USPPIH /| 107
uoioeg pleieq
ploysai4 ON YL 0 [enuspisey 1202 JelN 91 000°081$ ‘$0.10Y USPPIH 8 107
uoloes 01G/ Plalleq ‘piaied
ployaa.4 N 969 0 0  [enuapisay 1202 JeN Z1 000'G51$ ‘anuany Ausyo vz
uonoes pleweq ‘eoeus |
ployaal ON 959 0 [enuapisay 1202 JelN 21 000'SS1$ 300JGM3N 6/€ 107
uoioes pleeq
ployaai4 ON 0.8 0 [enuapisay 1202 JeN 81 000'0L1$ ‘$2.10Y USPPIH 6107
uolnoss
ploysai4 OoN 018 0 [enuapisay 1202 JelN 81 000'0/L$  Ploeq ‘g usmo /|
uoioag plelleq
ploysai4 ON 0LLL 0 [enuapisoy 1202 JeN 81 000'06}$  ‘SaI0Y USPPIH G| 107]
uoioeg pleeq
ployaai4 ON 6. 0 [enuapisay 1202 1B\ 81 9z8'LYL$ ‘$0.10Y USPPIH Z 107
uoioag pleeq
ploysai4 ON ges 0 [enuepisay 1202 JeN 81 92Z8'LyL$  ‘S8I0Y USPPIH ¥Z 107
uoioes 01S/ Plaleq ‘piaieq
ploysai4 ON 08 0 0 [enuspisey 1202 Jel €2 Z8.'vEL$ ‘20B|d OUPaD €
uoloes 01SZ PIaleq ‘PIdlEQ
ploysai ON 09% 0 0  [enuspisey 1202 Jel €2 000's€1L$ ‘00e|d ASS91D 61
uoioes 0LS/ Pleleq ‘piailed
ploysai4 ON 128 0 0 [enuspisay 1202 Jel vZ 000'S51L$ ‘20B|d OUPaD 9|
uoioeg 01S/ Plaleq ‘Pialeq
ployaai4 ON 092 0 0 [lenuspisey 1202 Jen vZ 000'SG1$ ‘anuany Ausug zz
uonoes pleleq ‘enusAy
ployaa.4 ON 6. 0 [enuapisay 1202 Jel vZ 000'S51$ Ausyg 9z/L¥ 101
uooss pleeq
ploysai4 ON S/LL 0 [enuapisey 1202 Jen G2 1ZG'9GL$ 'S80V USPPIH GZ 107
uooes pleieq
ployaa.4 ON Gz8 0 [enuapisay 1202 {el G2 9zZ8'LyL$  ‘SaI0y USPPIH £Z 107
uoles pleled 1s
ployeald ON bLLL 0 [enuapisay 1202 1B\ 62 000'06L$  ©1004 BwWseID ¢} 107
uol0esg

ainua] Aiobajen
Buljemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[esS Ssalppy

ales aleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj padinos sebeuwl,

ploysal4 ON 0Lzl 0 [euspisay 120¢ 1elN ¥0 000°061$ 'S80y USPPIH 11 107
uonodes pisieqg
ploysai4 ON Ges8 0 0 [ejuaplisay l¢0c ‘el v0 000'02L$ 'S80y USppIH ¥ 107
uoposs pidyed
ploysald ON LLZL 0 [euspisay 120¢ 1elN ¥0 000°061$ 1S 8)004 swiseID 2§
uoloes pleieq ‘eoens ]
ploysaid ON Ll 0 [ejuaplisay L¢0c 1elN 80 000'0G1$ 300IgM3N 91/0C 1071
uolides pREd
ploysal4 ON 0cel 0 [ejuspisey 120¢ JelN 80 000°08L$ 'S80y USPpIH 61 107
uondss pieieqg
ploysal4 ON (VA% 0 [ejuapisay 120¢ /el 80 000°061$ 'S80y USPPIH 91 107
uoldss pRiEd
pioysaid ON 1 YA 0 [ejuaplisay ¢0c 1elN 80 000'061$ ‘SeJoy UsppiH 0} 107
uoloes
ploysal4 ON olel 0 [ejuspisay 120c {eN O} 126'9G1$ playeq Ig usmo vi
uoldss 01G/ pleeq ‘pisieq
ploysal4 ON g8/ 0 0 [ejuspisay 120c 1eN L1 000'GGL$ ‘ade|d dUpa) L
uondss 01G/ plaiHeq ‘pleieq
ploysal4 ON G6. 0 0 [enuapisay Lc0cC {eiN L} 000°G5L$ ‘ade|d 2Upa) ¥
uolo8es playeq ‘eseus |
ploysal4 ON 081 0 [euspisay 120 1elN L} 000°GS1L$ Y00IgMaN L1/ 307
uonoasg 01G/ plaideq ‘pieieq
ploysal4 ON 619 0 [ejuspisay L¢0c el ¢1 000'8G1$ ‘ade|d oUpa) 6
uoposs pIeyed
pioysai4 ON 088 0 [ejuaplisay lc0c 1elN ¢L 000°0LL$ 'S80y USPPIH L2 107
uondss 01G/ plaieq ‘pisileq
ploysal4 ON €¥9 0 0 [euspisay 1¢0c {eN 91 000°GSL$ ‘a0e|d oupa) L1
uolodss 01G/ pleieq ‘pleileq
pioysaid ON S6. 0 0 [ejuaplisay L¢0c el 91 28L'vELS ‘a0e|d oupa) Ol
uonosesg 01G/ plRiHeq ‘pleieq
ploysal4 ON yAZA 0 [ejuspisay 120c {elN 91 000'v8L$  ‘@delI8] YOOIgMeN GL
uoldss 01G/ pleieq ‘pisileq
pioysaid ON 981 0 0 [ejuspisay L¢0c 1elN 91 veV'0ELS ‘anuany AuLyg 0z
uoloeg plewteq ‘eoeus]
ploysal4 ON YR 0 [ejuspisay 120c {eN 91 reEY'0ELS 3O0IgMBN /96 107
uoposs pidyeq

ainua] Aiobajen
Buijemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[esS Ssalppy

ales aleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj padinos sebeuwl,

ployes. ON 08 0 [enuapisoy 1202 904 81 000'GGL$  ‘90BLIS] SOOIGMON /|

uoyoes 01G/ Paleq ‘pialeq

ployai ON 129 0 0  [lenuapisey 1202 994 81 YEY'0EL$ ‘anusAy Aueyo g

uonoag 01G/ pleiHeq ‘pleieq

ployea.y ON 2.9 0 0 [enuepisey 1202 994 81 VEV'0ELS ‘onuaAy Aueyg 9

uonosg 01G/ pleiHeq ‘pleyieq

ployaa. ON 259 0 0 [enuspisay 1202 904 81 YEV0ELS ‘anuaAy Ausug 8

uoyoes ploieq

ploysai4 ON L1zl 0 lenuspisey 1¢0c 984 gl 000'061$ IS ©}004 dWLkID PG

uonoeg 01G/ pleiHeq ‘pleeq

ploysa.4 ON VL. 0 |epuspissy 120Z 994 61 000'8G1$  ‘©dBls] MOOIgMmeN €|

[WA)A

uonoeg pieeq ‘plaieq ‘Lpy

ploysal4 ON G¥6 0 0 |epuapissy 120 994 €2 000'0/1$  ‘peoY ydeibsja) Ze6l

uonoss 01G/ plaiHeq ‘pleiieq

ployea. ON 0€8 0 0 [lenuspisoy 120Z 994 92 000'SG1L$ ‘onusAy Asy9 91

piReq

uonosg 'z 9beyg uoisiApgng

ployealy ON 896 0 0 [enuepisey 1202 9o4 92 000'0Z}$ seQ AsseiD 62

uoyoes 01G/ Plalleq ‘piaileq

ploysai4 ON 129 0 |enuapisay 1¢0¢ 9°d /¢ 000'721$ ‘enuaAy Ausyg ¢

uoles ploieq

ployaai ON 1zzl 0 lenuapisay 1202 SN L0 000'08L§ IS 91004 BWeEID BG

uonoes ploleq

ployea.d OoN 128 0 [enuapisay 1202 SN 10 000°0/L$ IS ©)004 SWRIS LG
uonoeg

ploysai4 ON 788 0 lenuapisay Lc0c JelN Lo 000'021$ plaieq 4g uamo ¢i

uonoas 01G/ pleieq ‘pleieq

ploysa.4 ON 082 0 |epuapissy 1c0c 1elN €0 000°0vL$  ‘99BlIS] YOOIGMSN /LT

uonosesg 01G/ plRiyeq ‘pleieq

ploysai4 ON LcL 0 leuapisay 1c0c¢ JelN €0 000°0G1$  ‘edela] MooigmaN 9|

uoles 01G/ plalleq ‘piaieq

ploysali4 ON 969 0 |euapisay Lc0c 'elN €0 000°GS1L$ ‘90B1I9| Y00IgMSN 6

uonoesg 01G/ plaIeq ‘pleieq

ploysai4 ON G6.L 0 lequapisay L20c 'elN €0 000'GG1$ ‘anusAy Ausyo 9z

uoloag pleeq

ainua] Aiobajen
Buijemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[esS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj padinos sebeuwl,

ploysal4 ON 8¢.L 0 0 [efjuspisay 1¢0¢ Uer G¢ 000°0S1$ ‘80BlI8 | Y00IgMeN 9
uolodss 01G/ pleeq ‘pieieq
pioysai4 ON 061 0 0 [ejuaplisay L¢0c uer 9¢ 28L'7EL$  ‘edBiI9] MOOIGMeN ZZ
uonoes 016/ playeq ‘pleieq
ploysal4 ON 798 0 [euspisay 1 20¢C Uer 62 000°09L$  ‘edelIS] X0O0IGMeN T
uoldss PreEed
ploysaid ON 081 0 [ejuaplsay 1¢0¢ 994 €0 000'0GL$  ‘@deid 2Upa) £/8Z 107
uondes 01G/ plaeq ‘pleieq
ploysal4 ON 061 0 0 [ejuspisay 120¢ 994 GO vEY'OELS ‘a0e|d 2Up8) §
uopodes 01GZ ploweq ‘pieieq
pioysaid ON 129 0 [ejuapisay 1¢0¢ 994 60 000'651$ ‘anuaAy Auayg g
uolnoes pisieqg
ploysaid ON €v6 0 [euapisay 1¢0¢ 994 60 000°0LL$ 1S 9j004 swieeID /G
uoloesg plauleq ‘enusAy
ploysal4 ON 092 0 |euspisay 120¢ 994 60 000°0S}$ Audud 01/61 101
uondss pleeq 1s
ploysal4 ON 1162 0 [euspisay 120¢ 994 60 000°G1L2$ 9004 swsel9 g1 107
uoldss pieieq 1s
ploysai4 ON Glch 0 [ejuaplisay 1¢0¢ 994 60 000°'081+% 9]004 swselH 61 107
uonoss pieyeqg
ploysal4 ON 088 0 [ejuspisay 120¢ 994 0l 000°0LL$ 1S 81004 swieeID /i
uoldss PreEd
ploysal4 ON bLZL 0 [euspisay 1¢0¢ 994 0l 000'061+% 1S 9}004 swiseID 85
uonodes piviHeq
ploysal4 ON LLZL 0 [euspisay 120¢ 994 0l 000°061$ 1S 81004 swseIH 09
uondss piweqd 1s
ploysal4 ON bLZL 0 [euspisay 1c0c 994 LI 000°061$ 9004 swsel /| 107
uoloes
ploysaid ON 9¢e8 0 [ejuaplisay lc0c 94 L1 000°0LL$ pleieq 4g usmo €|
uolides pIeyeq
ploysal4 ON 088 0 [ejuspisay 1¢0c 994 ¢l 000°0LL$ 1S 81004 swiseID 61
uonoes 01G/ pleeq ‘piayieq
ploysal4 ON cl9 0 [ejuspisay 1c0c 994 LI 000'691$ ‘anuany Ausyo 9
uondss pIeyeq
ploysai4 ON 811 0 [ejuaplisay 120c 994 /I 000°061$ 1S 8J004 swieeIH 29
uonodeg 01G/ piaieq ‘pisieq

ainua] Aiobajen
Buljemg meN Zw pueT Zw J1oo| SNHd 9jeq ales 90ld 9[esS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj padinos sebeuwl,

ploysa.4 ON €61 0 0  [enuspissy 020Z AON €2 000°0LL$ syeQ AssaiQ g¢
uopnoeg 01G/ pleieq ‘pisileq

pioysa.d ON (072 0 [enuspisay 020Z AON 92 000°0¥1L$ ‘anuany Aueyo zi
pieleq

uonoes ‘Z ebejg uoIsIApgnS

pioysa.d ON 192 0 0  lepuspissy 020z 98Q 20 000°0LL$ sYeQ Assa1) G¢
pieeq

uonoesg ‘C 9be)g uoIsIAipgng

pioysaid ON oL8 0 0  lenuspisay 020z 92Q 20 000°0LL$ syeQ Assai) 6¢
uopoes pisieq ‘peoy

ON 9L 0 0  [enuspisay 020¢ 923 80 000'GYL$ sulyénejoly 9 | 107

uonoeg pleyeq ‘peoy

ON /18 0 0  [enuspisey 0202 923 80 000°6¥7L$ sulyénep 9 Z 107

uoloesg plauteq ‘enusAy

ploysa.4 ON (0} 7 0 [enuspissy 020z 22a 8} 000°0¥L$ Aueud z1/81 101
uonoeg 01G/ plaieq ‘pisileq

ploysaid ON 9zL 0 0  lenuspisay 020z %eQ Le veEV0ELS ‘ede|d oUpa) Gl
uoposg 01GZ plsiweq ‘pjaieq

pioysa.4 ON 082 0 [enuspisay 020z 2ed L¢ 000'05+$ ‘ade|d oUpa) L
uonoeg 01G/ pleiHeq ‘pleyieq

ploysaid ON 119 0 0  lepuspissy 020z %eQ Lg veEY0eLS ‘a0e|d 2Upa)d 6
uoposs 01G/ pleieq ‘pieieq

ploysai4 ON 092 0 [enuspisey 020z 9°d L¢ 000'05+$ ‘anuany Ausyg 0}
uonoes pleieq ‘eseus]

pioysaid ON 798 0 [enuspissy 020z o2Q Lg 28.'vELS 300IgmeN 2/91 307
uonoes plaeq ‘eseus ]

ploysa.4 ON 9/9 0 [enuspisay 020z %ed Le 980°9¢1$ 300IgMeN €2/01 107
uoloes pieiHeq

pioysaid ON ey 0g'} 0 0  [enuspissy 020z 92Q Lg 000°092$ ‘peoy %4810 G107
uopnossg 01GZ ploweq ‘pjeieq

ploysa.4 ON 008 0 0  lenuspissy 020z 98a ¢¢ 000°GSL$ ‘l9au)S uosiead 9
uonoes 01G/ pleeq ‘piayieq

ploysaid ON Zv8 0 [enuspisay 020z 298Q ¥¢ 000°GS1$ ‘anuany Auayo 8|
uonoes plaeq ‘eoena ]

ploysa.4 ON 2s9 0 [enuspisay L2og ver gL 000°GSL$ 300IgMeN //Z 107
uoposg 01G/ piaieq ‘pisikeq

ainua] Aiobajen
Buijemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[eS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj padinos sebeuwl,

ployaal4 ON 28S 0 0 [euapisay 020z 1dv ¢} 000°0S1$ syeQ Assai) G| 107

uoloes plauteq ‘enusAy

ploysai4 ON 998 0 [ejuapisay 020z Ael\ 82 000°0/1$ PpUBLOW}SIM ¢

uoloes plaiHeq ‘enusay

ploysai4 ON 998 0 0 |[enuapisay 0¢0c¢ unr g¢ 000°0LL$ puejalowisap ¥

uonodss pRed

ploysal4 ON 0000L 0 0 [epuspisay 0coc Inr Gl 000°052$ ‘peoy 8xha1Q L/ 107

uonodeg pidieqg

ploysai4 ON 6€8 0 [enuapisay 020z das 10 000°G9L$ ‘ooe|d Assal) /2
uonoes

ploysal4 ON 80¢€¢€ 0 [ejuspisay 020z dos 20 000°G¥2$ pleeq ‘1a Hois ¢l

pieeqg

uonoss 'z obejs uoIsiApgng

ploysai4 ON 0¥8 0 0 |euapisay 020z des 2z 000°G9L$ syeQ Assaid /2

uondss 01G/ pleieq ‘pleieq

ploysal4 ON 716 0 [enuapisay 020¢ 10 S0 006°2S1$ ‘J98.)S UOPUIOH V9S|

uonosg 01G/ playeq ‘pleieq

ploysai4 ON 7001 0 0 [enuapisay 0202 0O ¢¢ 000251$ ‘J9al)S uopuloH g9sL

uoloes pidyeqa

ploysa.i4 ON €61 0 |euspissy 020¢ PO 0€ 000°0L}$ ‘aoe|d Assal) g¢

uolnoesg pleuteq ‘enusay

ploysal4 ON 269 0 [euapisay 020C 190 0€ 000°G91$ puellowisap €

uondes 01G/ pIdIHeq ‘pleieq

ploysai4 ON 1¥9 0 |enuapissy 020¢ NON 0 000°GvL$  ‘@oelS] YOOIgMeN 6L

uondss pised

ploysai4 ON 092 0 |euapisay 020cZ NON LI 000°0LL$ ‘ooe|d Assal) /¢

uoldss pREQ

ploysal4 ON 118 0 [enuspisay 020¢C NON LI 000°0LL$ ‘ooe|d Assa1) BE

uondss pieeq

ploysai4 ON 292 0 |euapisay 020cC NON LI 000°0LL$ ‘ooe|d Assa1) GE

uoldss pRed

ploysal4 ON 896 0 [euspisay 0c0¢ NON 61 000°0£L$ ‘aoe|d Assa1) 62

pieeqg

uonoss 'z obejs uoIsIAIpang

ploysa.4 ON 269 0 0 [ejuspisay 02¢0¢ NON €¢ 000°G91$ syeQ Assau ¢

pRIHEd

uoidesg ‘Z 9be)s uoIsIAlpans

ainua] Aiobajen
Buljemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[eS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj padinos sebeuwl,

uonoss 01G/ pleiHeq ‘pleyieq

ploysai4 ON 818Y 0 0 |euapisay 810¢ AON €¢ 000'022$ ‘peoy s8bpud 0¢
uonoesg 01G. plaiHeq ‘pleeq

pioysai4 ON G/8 0 0 |enuapisay 6L0¢ uer g1 000'0¥L$ ‘1oang ospy Gl
1 /S, pieeq

uoyoss ‘ploleq ‘oALq

ployea.d ON 1GES 0 0 [enuepisey 610Z 9o /2 000'62Z$ ybnosogspue gg
uoyosg ploIEQ ‘UOISIAIPANS

ployaai ON 958 0 0  [epuapisey 610z 1dv €2 005°254$ sjeBpeoig G 107
uoloes 01S. pleiHeq ‘pleiieq

ployea.d oN 958 0 v lequapisey 6102 ABIN 80 005°254$ ‘0509 @opunq 8
uonoesg 01G/ plaiHeq ‘pleeq

ploysaid ON 099 0 € lenuapisey 610¢C Inf ¢¢ 000°GPlL$  ‘©oBLS] YOOIGMON GZ
uonoeg 01G/ plaiHeq ‘pleieq

ploysai ON 1501 0 [enuspisay 610z dos 60 000°161$ ‘00B1I8] YUON G2
uonosg 01G/ pleeq ‘pieiieq

ploysai4 ON 9ZL 0 0 |enuapisey 610z des G| 00S'2S1$ ‘@Al uopaquiad V9
uonoas 04G. plaleq ‘peieq

umouun ON €L 0 0 |epuapissy 6102 des gz 005°2SL$ ‘9AlIQ uopsquiad 99
uonoss 01G/ plaiHeq ‘pleeq

ploysai4 ON 7001 0 leuapisay 6102 0 S¢ 000'02L$ ‘}9a1)S UopuIoH g9s|
uoloeg plalLEQ ‘UOISIAIPGNS

ploysai ON 7001 0 0 leuapissy 610Z AON 81 000°0Z1$ sjebpeolg g| 107
uopoeg pleeq

ploysai4 ON Ll8 0 |euapisay 610C AON 61 000'6¥71$ ‘peoy sjepusalo |
uonoas 01G/ plReq ‘pleleq

ploysai4 ON 192 0 0 |euapisay 610¢ 930 0¢ 000'2S1$ ‘9de|d oUpaY /|
uoyoes ploIeq

ploysal4 ON 8L 0 |enuapisay 0¢0c¢ ver ¢¢ 000°G¥1$ ‘peoy sjepusalo d|
uoles pleleq ‘UOISINIPANS

ploysai4 ON 868 0 0 |ejuapisay 0c0c 1elN 90 000'091$ syeQ Assa1Q /| 107
uoloag ploleq

ployeald N 9.0l 0 lenuapisay 0202 JeN 90 000'S21$ ‘o0e|d ASSaID) 0F
uoyoss 01G/ Plaleq ‘piewieq

ploysal4 ON 288G 0 |epuapissy 0coc ieN ¢l 000°051$ ‘aoe|d Assal) 0z
uonoag pISILEQ ‘UOISIAIPGNS

ainua] Aiobajen
Buljemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[eS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj padinos sebeuwl,

uonoes plolleq ‘peoy

ploysai4 ON Sv6 0 0 |euapisay /10Z AON ¢ 052651 $ ydesbajel £/61/€
uonoeg 01G/ plaeq ‘plaieq

ploysai ON 6. 0 0 lejuaplisay /102923 L0 000'GS1$ ‘@A uopaquisd
uonoes ploleq ‘UOISINPNS

ploysai4 ON 081 0 0 |euapisay /10¢ 98d L0 000691 $ syeQ AssaiQ g1 107
12G/ pPIdeq

uonoeg ‘plowIeq ‘aAlQg

ploysai4 ON €els 0 0 |epuspissy 810¢ Uer 0¢ 000CLc$ ybnologspue /¢
1 /S, piIeeq

uonoes ‘ploweq ‘LpY ‘eauq

ploysa.i4 ON 100G 0 0 |epuapisay 810C Uer LE 000'702$ ybnoiogspue] £
uonoesg 01G/ plaieq ‘pleieq

ploysai4 ON 08 0 0 leuapisay 810Z 9924 ¢0 000081 $ ‘aAuQ uspyeQ §
uonss plelEq ‘UOISIAIPGNS

ploysai4 ON 6S. 0 0 |enuapisay 8L02 9e4 L 000°05}$ syeQ Assa1Q g| 107
12G/ pPIdieq

uoles ‘ploipeq ‘eAuq

ploysai4 ON L0LS 0 0 |enuapisay 8l0C 924 /¢ 000°clc$ ybnoiogspue Ly
uoinoesg 01G/ pldiyeq ‘pleeq

ploysai4 ON 6L 0 14 leuapisay 81L0c 1elN ¢0 0S2'/91$ ‘@A uopaquisd 1
uonoeg plolEQ ‘UOISIAIPANS

ploysa.4 ON 089 0 0 |enusplissy 810¢ e\ Gl €8.7€L$ syeQ Assa1Q 91 107
uonoss 01G/ pleiHeq ‘pleyieq

ploysai4 ON 9lLL 0 0 |euapisay 810¢ e\ 61 000°G71$ ‘ade|d JUpa] €
[WA)A

uondss pleweQq ‘plaeq ‘1py

ploysai4 ON 100S 0 0 lequapisay 8L0C e L 000°L1C$ ‘9de|d 9qWOdNUM L2
L/G/ pIded

uonoeg ‘ploleq ‘LY ‘enug

ployea.d ON 9005 0 0 [enuspisey 810Z Aep |1 000°0€€$ ybnologspue /g
uonossg 01G/ playeq ‘pleeq

ploysai4 ON 918 0 14 |euapisay 8L0z AeN L1 z8LvELS ‘soe|d AssalI) G
uonoeg PloIEQ ‘UOISINIPGNS

ploysai4 ON 918 0 0 [euapisay 81L0c unr Lo €8.7€L$ s)eQ Assa1Q /z 107
uopioeg 01G/ plaiHeq ‘pleeq

ploysa.g ON 1G9 0 € |epuaplissy 810z dos L0 000°G¥1$ ‘anuany Ausyg ¢

ainua] Aiobajen
Buijemg meN Zw pueT Zw Joo| SNHd 9jeq ales 90ld 9[eS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj pasinos sebeuwl,

uoloes 01G/ pIaKeq ‘piaieq

ploysal4 ON cv8 0 % |enjuspisay Llog unr /g 000'091$ ‘soe|d Assal) ¢
uonoes 01G. pleieq ‘pleeq

ploysa. ON 09/ 0 v lenuepisey /102 InF 90 956'9€1L$ ‘00e|d Assa1D €|
uonoss 01G/ plaiHeq ‘pleieq

ployoa. ON 159 0 €  [enuapisoy 2102 InF 2L Z8L'vELS ‘00e|d ASsaID 22
uoioes ploleq ‘UoISIAIPANS

ploysai4 ON 091 0 0 lejuspisay ZlocInr gl 000'GS1$ syeQ Asse1Q $2 107
uol1oes pleleq ‘UoISINIPANS

ploysal4 ON €98 0 0 |[enuapissy L10c Inf LL 000°091$ syeQ Assa1Q | 107
1S/ pIdieq

uoles ‘ploweq ‘LPY ‘8Auq

ployeald ON 9505 0 0 [enuopisey L1L0Z InF 62 000'702$ yBnouogspueT 6z
uoes pleeq ‘UoISINPANS

ploysai ON 092 0 0 |enuapisay 2102 Bny 2o 1G6'9€1$ syeQ Asse1) €7 107
uonossg 01G/ pleeq ‘pieyieq

ploysai ON G6. 0 € lenuapisay 10z Bny |1 000'8¥71$ ‘ade|d 21Pa] 8
uoles 01S. peIeq ‘piaieq

ployeal ON V2L 0 €  [enuspisey 2102 By 41 000'05}$ ‘a0e|d ASsaID G|
uoioag pleieq ‘uoIsIApang

ploysai4 ON VL. 0 0 lenuapisay /102 das 90 000°051$ syeQ Assa1) 2z 107
(WA

uopoes pieeq ‘pleeq ‘Lpy

ploysai4 ON 100S 0 14 |enuspissy /102190 10 000°L12$ ‘90e|d 9qWOdIUM L2
1S/ pidieq

uonoesg ‘Ploldeq ‘peoy

ploysai4 ON Sv6 0 lenuapissy /10Z AON 20 0S2'SS1$ ydeibejal O¢/61
1S/ pIdieq

uoioes ‘ploleqd ‘LY ‘enua

ploysai4 ON ¢00S 0 0 |ejuspisay /10¢ AON 60 000'702$ ybnoiogspue /|
uoles ploieq

pioysai4 ON gvol 0 0 lenuspisay L10Z NON 91 000'041$ ‘g uolaquiad g 107
1/G/ pleieq

uonoss ‘PIeYEQ ‘PEOY

ploysa.4 ON 166 0 ¥ lenuspisay 2102 AON 6 000'G¥L$ ydeibaje) AeL6)
uoles plellieq ‘UoISIAIPANS

pjoysai4 ON 06¥% 0 0 |lenuspisey L10Z AON L2 €vo'cLL$ syeQ Assa1) Lz 107

ainua] Aiobajen
Buljemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[eS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj padinos sabeuwl,

uoloes 01G/ pleiHeq ‘pleyieq

ploysai4 ON 918 0 14 |euaplisay 910¢ AON S 8LY'EVL$ ‘a0e|d 8pAH Wel|iIpn 2
1/G/ pIdeq

uonoes ‘plaleq ‘LpY ‘9AuQ

ploysai4 ON cL0s 0 0 |enuapisay 910¢ AON 6¢ 000°'661$ ybnoiogspue L¢
uoioes ploleq ‘uoIsINpgNS

ploysai4 ON 918 0 0 leuapisay 9102 98d Sl 000'G91$ syeQ Assai) ¢ 107
uoles ploieq

ploysa.g ON cols 0 0 |epuspissy 9102 9eQ ¢ 000°GL2$ ‘peoy sebpuo
uoioeg peeq

ploysai4 ON ey G0’y 60€ |euapisay 91L0c %20 L¢ YSi'GvL LS ‘PEOY SUDIMEH GE
uonoes L LG/ pleileq ‘pleiied

ploysa.i4 ON 100S 0 0 |enuapisay /10¢ ver 0¢ 000°£02$ ‘a0e|d 9qWOdNYAA 61
1S/ pIeieq

uoioes ‘ploleqd ‘LY ‘anua

ployaai ON 000§ 0 0 [epuapisey /102 994 /2 000'661$ ybnoiogspue 6|
12G/ PIdieq

uonoes ‘plaleq ‘LpY ‘eAuq

ploysai4 ON 100S 0 0 |euapisay /10¢ JelN 0¢ 000°702$ ybnoiogspue Gz
uoloas 01GZ plaleq ‘piaieq

ploysai4 ON 769 0 0 leuapisay /10Z4dy g1 000'G91$ ‘a0e|d 9pAH WEl[IAL 8
uoles pleieq ‘peoy

ploysa.g ON 818V 0 0 |epuaplissy 210z 1dv g} 000°0L2$ sabpuD 0g/E 107
uonoss L2G/ pldleq ‘plaieq

ploysai4 ON €905 0 0 |euapisay 210z 14y /2 000°GL2$ ‘90e|d 9qWOdIUM 8E
uonoeg 01G/ pleieq ‘pleieq

ploysai4 ON G969 0 0 |euapisay 210z AelN €0 000‘0lz$ ‘peoy 9|epusalo 62
uoioes pleeq

ploysai4 ON [4°1°14 0 0 |euapisay 2102 kepN 61 000°G0Z$ ‘peoy sebpuo
1/S/ pieieq

uoles ‘ploieq ‘peoy

ploysai ON 1545 0 4 |enuapisay 210z Rey 22 000°061% ydeiBejal vel61
1/S/ pieieq

uonoss ‘PIoYEQ ‘PEOY

ploysai4 ON 156 0 [euapisay 210z AeiN 9z 0002S1$ ydesbelo| 9¢/61
uonoss 01G/ plaieq ‘pleileq

ploysa.g ON 092 0 14 |epusplissy /10c unr gz 000°G51$ ‘ooe|d Assa1] ||

ainua] Aiobajen
Buljemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[eS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj pasinos sebeuwl,

ployaai N G505 0 0 [enuepisey 9102 I L2 000'0L2$  ‘e9eld SqUIOONUM OF
1/G/ pIdieq

uoioeg ‘ploIeq ‘LPY ‘oAua

ploysai4 ON 6205 0 14 |euapisay 910z Bnv €0 000°202$ ybnologspue gg
uoles LLG/ Pleleq ‘ploieq

ploysai4 ON 21457 0 0 |euapisay 910z bny g2 000°GEC$ ‘L PY ‘9ALQ HOIS 11
[WA)A

uonoesg pieeq ‘pleeq ‘Lpy

ploysa. ON 00 0 0 [enuepisey 910z dos 61 000202  ‘©9eld @QWOONUA €2
uooes pleeq

ploysa.4 ON Gel9 0 0 [enuapissy 910z dos 61 000°22c$ ‘peoy Jobueg ¢ 107
1.G/. pIdieq

uoles ‘plowed ‘LPY ‘9Auq

ploysa.4 ON 7891 0 0 |enuapisay 910z dos 9z 000Clc$ ybnoiogspue oy
uoes pleieq

ploysai4 ON S¥0S 0 0 |euapisay 910z des /2 000°'022$ ‘peoy Jobueg z 107
uoles pleeq

ploysai4 ON 090% 0 0 |euapisay 910z dos 8z 000'GL2$ ‘peoy Jobueg ¥ 107
uoleg 01G/ Plleq ‘piieq

ploysai4 ON 092 0 14 |epuapisay 9102 190 L0 28.vEL$ ‘soe|d Assal)
(WA)A

uonoeg pleeq ‘pleeq ‘Lpy

ploysai4 ON 2008 0 0 leuapisey 910Z AON €0 000°202$ ‘90e|d 9qWOdNUM /|
1/G/ pIeieq

uoioeg ‘ploIeq ‘LpY ‘oAua

ploysai4 ON 9005 0 0 |euapisay 9L0C AON L1 000'661$ ybnoiogspue 2z
uoles pleleq ‘UoISINpgNS

ploysai4 ON 092 0 0 |euapisay 910¢ NON G €8.V€EL$ syeQ Assa10 9z 107
1 /S pIdieq

uoioes ‘ploleq ‘LpY ‘eAua

ployaai ON 1015 0 0 [epuapisey 910z AON 91 000Z12$ ybnoiogspueT Gy
01G. pIeeq

uonoeg ‘plaIeq ‘8ALQ

ploysai4 ON Ga8 0 0 |enuapisay 910C AON L 000'GS1$ smopesuwpeolg
uoas 01GZ Paleq ‘palleq

ployeaid ON 008 0 0 [enuspisey 9102 AON 22 000°6G4$ 19941 UOPUIOH 8¥/T
uopioeg 01G/ pleeq ‘pieieq

ploysa.4 ON 769 0 € |epuaplissy 910¢C NON €¢ 000'G91$ ‘a0e|d OPAH Welip 8

ainua] Aiobayen
Buijemg meN Zw pueT Zw Joo| SNHd 9)eq ales 90ld 9[eS Ssalppy

ales sleg




wanist | ZN13Y
40 3LNLILSNI .
S S T u-02°9)e)saleal Wolj pasinos sebeuwl,

01G/Z pleied

uoles ‘pleleq ‘99e|d

ploysai4 ON (49 0 14 |epusplissy 910¢ ver 9¢ 000°G91$ OPAH WelliM 0L
uonoes 01G/ pleieq ‘pleeq

ploysal4 ON €6.L 0 0 |enuapisay 910z 1dv 02 000°G51$ ‘anlQ uopaquiad Gl
(WAYA

uonoss PIeIeq ‘ploweq ‘Lpy

ploysai4 ON S00S 0 14 |equaplisay 910z Aepy o1 000°08}$ ‘90e|d 9qWOdNYAA L2
uonossg 01G. pleieq ‘pleyieq

ploysei N LS 0 Z  [enuspisey 910z AeN 82 000°0¥7L$ ‘o0e|d ASseuD €2
(WAYA

uonoasg pleweq ‘pieeq ‘Lpy

ploysai4 ON G00S 0 0 |euapisay 910 unr ¢o 000°202$ ‘90e|d 9qWOdIUM L2
[WA)A

uonossg pleeq ‘ploweq ‘Lpy

ploysai4 ON 9CLS 0 0 |euapisay 9L0c unr L0 000°0LC$ ‘99e|d 9qUOdNYA Z€
L2G/ pIgeq

uooas ‘ploieq ‘Lpy ‘eAug

ploysal4 ON €009 0 0 [euspisay 9L0c unr oL 000°202$ ybnologspueT g|
uonoes 016/ plaiyeq ‘pleleq

ploysai4 ON ey 00¢ 0 € |euapisay 9L0c unr ¢¢ 000°/22$ ‘peoy Jobueg vs6
uoyoss ploIeq ‘UoISINIPGNS

ploysa.i4 ON LG¥ 0 0 lenuspissy 9L0c unr /g 000'0¥L$ s}eQ Assa10 61 107
uopoeg 01G/ plaiHeq ‘pleeq

ploysai4 ON 899 0 € |epuspissy 9L0Z unr 8¢ 000'GEL$ ‘peoy dlepusai /g
(WAYA

uonoss pIewEeQ ‘PIvYeq ‘LpY

ploysal4 ON 200S 0 0 [ejuspisay 9102 Inf GO 000°20Z$ ‘90B|d 9qWOdNYM G2
1 /S pieieq

uonosg ‘PlewEq ‘LPY ‘eAuq

ploysai4 ON 100S 0 0 leuapisay aLoc Inr L0 000'661$ ybnologspue Lz
1/S/ pidieq

uonoeg ‘plolleq ‘LpY ‘oALa

ploysai4 ON 000S 0 14 |euapisay aLociInr gl 000°661$ ybnologspueT 6
1/S/ pieeq

uooeg ‘ploleq ‘LY ‘oauq

ploysai4 ON 6105 0 0 |equapisay 9L0c Inf 22 000°£02$ ybnoiogspue g
uoloas LLG/ PloIeq ‘Ploieq

ainua] Aiobajen
Buljemg meN Zw pueT Zw Joo| SNHd 9jeq ales 90ld 9[eS Ssalppy

ales sleg




ANVIVY3Z MIN Nz—mm
40 3LNLILSNI ‘An-
317153 Tv3Y 09°8)e]so|eal Woly padinos sebewl,

*ZNI3Y J0 smaln ay) Juasaidal Ajluessadau Jou S90p 8)ISqam Siy} uo ajgejiene ejep Aued paiyy ||e pue Auy “ajsqam

SIY} UO [BlS}EW 8U} JO SUOHEDLIPOW JO SHIOM SABALISP ‘suole|idwod Aue 1o 8)Isgam siyj uo ejep Aue Jo asn ay) 0} Buije|a. s}sod Jayjo Jo abewep ‘sso| Aue 0} uofe|al Ul JaAsosieym Ajjiqel| ou sjdeooe pue Ajjigelns pue
Ajjigerjal ‘Aoeinooe sy Buipnjoul ‘e}isqam siy} uo pajelauab ejep ay) 0} uonefas ul paldwi Jo ssaldxa Jayyie Ajuesiem ou saalb ZNITY ‘papirold elep ay) Jo Aoeindoe ay) 2JNSuUd 0} UdYe) USdQ dARY S8INSEaW d|qeuoseal IS|IYM
Jlawiejosiqg




